Quiz 2
Math 252

Name: Ae.
Show all your work (a ge&\éwally or geometrically) for each and simplify. No credit i is given
without supporting work. ~ v

1. [2] Given the graph of f passes through the point (1,6) and that the slope of its tangent
line at (z, f(z)) is 2z + 1, find f(2).
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2 ifp<-1
3. [2] Let f(z) =< 2z if-1<z<0
arctanz O<z

Carefully draw the graph of f on the graph provided below and use this graph to

answer the following questions.
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(a) [2] Approximate fo t) dt, using two approximating rectangles and left endpoints.
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(b) [2] Evaluate ff f(t) dt exactly.
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